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Factoring out e, and (e
assuming e, ~ e_* Al K”Vea(l_éj

(sat. VP of atmos.) Pu (A +7)
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 Penman simplified further: A(K +L)+ KHVe;(l—%j

* Noting that K,V IS Put(A+7)
conductivity of the

atmosphere to sensible K.V = p,c,C,v =— 2Lk
heat flux from the surface. {In[z”‘;zd H
e The relative humidity of the O
atmosphere, W.,,. e
—e_* is calculated from Wa = e
temperature :

— W, Is usually measured.
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the Penman Equation: == A (At 7)

« The Penman Equation
does not account for
vegetation.

* English scientist Monteith
rewrote the denominator,
the energy released by ET,
to account for canopy g _ A(K + L)+ p,€,Cofa 1 -W,)

conductance. Pu[A+7(Cey +Co0)]

The full Penman-
Monteith Equation




